Chapter 11 Problem III (+1)



Name _____________________

Show all work to receive full credit!

20. How many grams of ice at 0(C and 101.3 kPa could be melted by the additional of 0.400 kJ of heat?

21. How many kJ of heat are required to melt a 10.0 g popsicle at 0 (C and 101.3 kPa? Assume the popsicle has the same molar mass and heat capacity as water.

22. How much heat in kJ is absorbed when 63.7 g H2O(l) at 100(C is converted to steam at 100 (C?

23.  How many kJ of heat are absorbed when 0.46 g of C2H5Cl (bp = 12.3 (C) vaporizes at its boiling point? The molar heat of vaporization of C2H5Cl is 26.4 kJ/mol.

24.  How much heat (in kJ) is released when 0.677 mol NaOH is dissolved in water?

25.  How many moles of NH4NO3 must be dissolved in water so that 88.0 kJ of heat is released from the water?

26. Identify each as exothermic or endothermic:

a) 1 mol C3H8 (l) ( 1 mol C3H8 (g)
b) 1 mol NaCl (s) + 3.88 kJ/mol ( 1 mol NaCl (aq)
c) 1 mol NaCl (s) ( 1 mol NaCl (l)
d) 1 mol NH3 (g) (  1 mol NH3 (l)
e) 1 mol Hg (l) (  1 mol Hg (s) 
52.  Explain why ice melts at 0(C without an increase of temperature, even though heat is flowing from the surrounding into the system (the ice).

Solve 53 on the back (page 322)

